Bopla Enclosures < 7330 Executive Way ¢ Frederick, MD 21704 < 301-696-9800 * www.Rose-Bopla.com ° E-mail: RBinfo@pm-usa.com
Last Update June 2012



http://www.rose-bopla.com/
mailto:RBinfo@pm-usa.com

Fal
H
£

The enclosure line with IP 65
ingress protection, manufactured
using high-quality polycarbonate
UL 94 VO material, offers optimal
protection for your electronic
components.

1@ o T

Ty
oy
bt

-0 0

o o
7=
o o |

WDHTISEN wen M AL

19 different enclosure sizes and a wide
range of accessories permit the fitting of
products from terminals (available as acces-
sories) to high-value electronics.



T

Welcome to BOPLACity!

Enclosure material:

Color:

Scope of delivery:

Ingress protection:

Lid seal:

Polycarbonate

UL 94 VO

Light grey, similar
to RAL 7035.
Special colors on
request.

Upper and lower
section; lid screws
made of V2A, self-
tapping screws for
mounting bosses.
IP65/DIN EN 60529;
increased protec-
tion up to IP x7
on request.
Sponge cord
(neoprene) in lid
groove,

Accessories (additional charge):

M: Mounting plate,
laminated paper (Pertinax),
RD: Set of knurled screws = 4 pcs

F: Set of rubber feet = 4 pcs

WL: Set of wall brackets = 4 pcs

TS 15: Top hat rail DIN EN 60715 TH15
TS 32: G-rail DIN EN 60715 G 32

TS 35: Top hat rail DIN EN 60715 TH35
SchM: Hinge for M/T

Lid with silicone seal on request.

Notes:

— We recommend fitting the mount-
ing plate or the DIN-rails with the
self-tapping screws (included with
the enclosure).

— Threaded inserts are required for
assembly with metric screws.

Polycarbonate V0 enclosures External Dimensions Polycarbonate V0 enclosures External Dimensions
Model Part No. L w H Model Part No. L w H
V 205 02205094 52 50 35 V 226 02226094 120 80 85
V 206 02206094 65 50 35 V227 02227094 122 120 85
V 208 02208094 98 64 36 V228 02228094 122 120 105
V210 02210094 82 80 55 V231 02231094 160 80 85
V 215 02215094 120 80 55 V237 02237094 200 120 20
V217 02217094 122 120 55 V238 02238094 160 120 90
V220 02220094 160 80 55 V 2401 02240294 240 160 90

V221 02221094 200 120 75 V242 02242094 240 120 100
V223 02223094 200 150 75 V 255 02255094 360 200 150
V225 02225094 82 80 85

All dimensions in mm. Please refer to technical data. 389




Welcome to BOPLACity!

V 205 Order designation
52/51.7 * Polycarbonate enclosures Order no.
d4/23.7 " V 205 02205094
27.6/27.3*
! I ¥ off i 1© : *= Dimension reduced af bottom due to canical form.
i - Tolerances to DIN 16901-130.
LR !
TR s
| /_/
] |
1 S v
lid cylinder screw
) M4 x 20/7 similar to DIN 150 7045
| = i 35 g Accessories (additional charge)  Order no.
(total height) /" M: Mounting plate, 1.5 mm 22000100
= ?3:'?__._ o / TS 15: Top hat rail DIN EN 60715 TH15 22001800
g - ot e
s |
1 { | | =
. ] =
s . ] |
® g8= ® H—1"° 1 ©
3 i
= =il
35
2 31 2
(max. assembly height)
I/'\
bose =4
2-2501098
V 206 Order designation
65/64.6 _ Polycarbonate enclosures Order no.
3 57/567° V 206 02206094
40.6/40.3 * _‘
| i : \@L *= Dimension reduced at bofttom due to conical form,
f;j i \ Tolerances to DIN 16901-130.
oo 5] i
o/ ~lig i
o= oy ;
333 !
2< 8 :
O
lict cylinder screw
M4 x 20/7 similar to DIN 1ISO 7045
@® 35 Accessories (additional charge)  Order no.
65/64.4 = (total height) / M Mounting plate, 1.5 mm 22000200
53 25 _ / TS 15: Top hat rail DIN EN 60715 TH15 22001710
o 4
a4/ g 3 /
65 geep
T — i
o T
@ B3 o & | ~ %)
® % 3 @ ® 15 ©
8 g! ‘
1
i L
5143 & 55
9.4 25 11, 2.5 i3
— (max. assembly height)
bose [-@
2-2501009
390 For accessories see illustrations on pages 402.



Cdd
BOPLA

A Phoenix Mecano Company

Order designation VvV 208
Polycarbonate enclosure  Order no.
V 208 02208094
_ 98/97.7 * _
87.2/87° |
@\_ *= Dimension reduced at boftom due to conical form.
. Tolerances to DIN 16901-130.
-]
&
______________________ S
b3y
{(l-=
e o
71.8/71.6" 13.4
. - lid — cylinder screw Md x 18/7
Accessories (additional charge) Order no. \'l_/' similar to DIN EN 150 7045
F: set of rubber feet = 4 pcs 22003300 93!3;-3 * - 1.4
__ggi 18__18__ 14" (fotal height)
225/ 45 43 8 oass 42 92
4 deep : 4 deep = -
C)J T:I: |
. !
. 1 i
o
-@\@Ja et @ ®
3 1|
&)
& T raear s
90/89.4* 1° 29.4 L3
— - (max. assembly height)
base (@
2-2501100
Order designation Vv 210
Polycarbonate enclosures Order no. 82/815°
VvV 210 02210094 _ 73/72.6"
54.2/53.8 *
I 4 : *= Dimension reduced at bottom due to conical form.,
_gj : Tolerances to DIN 16901-130.
. 1 !
L1 |
FAPSEE I | I A
SIS I
8~ i
|
j |
1 Gl i cylinder screw M4 x 24/10
; similar to DIN EN 1SO 7045
lid _
. ) 55
Accessories (additional charge)  Order no. g2/813° ™1 oy (fotal height)
M: Mounting plate, 1.5 mm 22000300 = 2?5?6 ry — 6.5 deep 40 5
RD: set of knurled screws = 4 pes 22003100 ’- .
F: set of rubber feet = 4 pcs 22003300 I 2 =]
WL: set of wall brackets = 4 pcs 22004900 : - 3; . .-
TS 15: Top hat rail DIN EN 60715 TH15 22001700 | @ o :
| 1 \ R
TS 32: GrailDNENGOTISG32 22001701 —~|—-—-—¢- 32 @ r ©
! Y| =T
TS 35: Top hat rail DIN EN 60715 TH35 22001702 : ) R '
| e | :
i [l -
. O 2 !
ws || [ L5
58 RN 49 3
76/75.3* (max. assembly height)
——
base @)

2-2501101

Processing (drilling, milling, printing) and terminal assignment on request. 391

All dimensions in mm. Please refer to technical data.




Welcome to BOPLACity!

V 215 Order designation
Polycarbonate enclosures  Order no.
Vv 215 02115094
- 120/119.5° -
e 11/1106*
922/918° _‘
— : *= Dimension reduced ot bottom due to conical form.
3 Tolerances to DIN 16901-130.
2
wlal =
gg8
83, |
cylinder screw S
lid - M4 % 28/10 similar to DIN EN 15O 7045 .
O Accessories (additional charge)  Order no.
b Wt
- by 55 =4 / M Mounting plate, 1.5 mm 22000400
120/119.3 " -
B JiUB T ég—‘gaep !_ 40 (o helgrit) f/ RD: set of knurled screws = 4 pes 22003100
. - | 1 B /
95.2/94.5 w1 4 =5 4 F: set of rubber feet = 4 pcs 22003300
_fo : @ >) g, “*—m | WL: set of wall brackets = 4 pcs 22004900
9/@- G =" i TS 15t Top hat rail DIN €N 60715 TH15 22001900
1 @ 1
. | B "‘I__ i _mlf B - TS 35: Top hat rail DIN EN 60715 TH35 22001910
= & i | i 2 ey == == -~ =
3 E E| é l i 3= (4) (8) ks (6)
) § 2 | I §i§: b’y \}rZ/ ; (_’
i ) Sl Z
2 ; | IS .
Bo ' | b
=
| 815 & s
% a1l 495 25
- 114/113.3° (max. assembly height)
I,,—\ Due to a different shrinkage rate of
base 2) the plastic material, ABS enclosures cc
be about 0.1 - 0.25% bigger than the
PC enclosures shown in the drawing.
22501102
392 For accessories see illustrations on pages 402.



Cdd

BOPLA

A Phoenix Mecano Company

122/121.5*
i i 13/112.6*
Order designation 942/638" - Vv 217
Polycarbonate enclosures  Order no. } *= Dimension reduced at bottom due fo conical form.
Vv 217 02117094 I N E'} Tolerances to DIN 16901-120.
. N
Sl
=22 ———
& =1
)1 k@ @j cylinder screw M4 x 24/10
i i similar DIN EN 1SO 7045
lie @. s
. . — -] (- - -
Accessories (additional charge)  Order no. ‘”fl‘fsj 2 4‘;999 4 otel heiaht)
M: Mounting plate, 2.0 mm 22000500 97.2/965° s .4 15 ]
RD: set of knurled screws = 4 pes 22003100 T - ; 3 s =
F: set of rubber feet = 4 pcs 22003300 §) -@—| - ;“f ' A _% ! ' E
WL: set of wall brackets = 4 pcs 22004900 ~ i ! “"““‘“"'__Nr
TS 15: Top hat rail DIN EN 60715 TH15 22001900 il 5
. ] . @ -
TS 35: Top hat rail DIN EN 60715 TH35 22001910 s T o al _\ | .
@6~ BlE @ ©fFf 1 [ ©
- |
] fe
1 2 1
| %I@ ©I@-- i i il =]
' py & i
100 4 48 3
L 116/115.3* _ {max. assembly height)
base @ 2-2501104
Processing (drilling, milling, printing) and terminal assignment on request. 393

All dimensions in mm. Please refer to technical data.




I

Welcome to BOPLACity!

V 220 Order designation
Polycarbonate enclosures  Order no.
VvV 220 02220094
160/159.5 *
151/150.6 °
132.2/131.8"
" g *= Dimension reduced at bottorm due to conical form.
‘ J | Cf Tolerances to DIN 16901-130.
L i Y
/a2 i
8Kz !
‘ | z | 4
B l O :
cylinder screw M4 x 24/10
i similar to DIN EN IS0 7045 1
id ™
Q 4 Accessories (additional charge)  Order no.
lwfllf:s i —= e 4f m(tctcl height) M Mounting plate, 1.5 mm 22000600
6.5
135.2/134.7 | e B 2l 4 RD: set of knurled screws = 4 pcs 22003100
* jC-)— ‘é' _E F: set of rubber feet = 4 pcs 22003300
| nn,|m @ & E_E _: WL: set of wall brackets = 4 pcs 22004900
@-l“i r A o _g o TS 15: Top hat rail DIN €N 60715 TH15 22002000
. = ol @ ® { s TS 32: G-rail DIN EN 60715 G 32 22002010
| | 5~ _ TS 35: Top hat rail DIN EN 60715 TH35 22002020
© =
| @ @ 3
1215 | 5
136 - 3 49
|2 154/153.5* - _ (max. assembly height)
P~ — -]
base @ .
2-2501106
V 221 Order designation
20011995 Polycarbonate enclosures Order no.
191.2/190.8 "
@ 17227171 8° - V 221 02221094
T I : "= Dimension reduced at bottom due to conical form.
i Tolerances to DIN 16901-130.
i
e l. |
23 !
pad 1 fries
QS i
i i
i
|
cylinder scraw Md x 24/10
lid similar to DIN EN 150 7045 ‘
M 75 ) Accessories (additional charge)  Order no.
m’]ﬁg‘;"" 24/ o tetat height) / M: Mounting plate, 2.0 mm 22000700
|-|' 1752/1742° ‘I-I /‘5‘5 deep h!| S | 5 / RD: set of knurled screws = 4 pes 22003100
I 1 s 0 '_'_'_E_i F: set of rubber feet = 4 pcs 22003300
o l:: - ‘! - WL: set of wall brackets = 4 pes 22004900
oo T @‘J 5 By TS 15: Top hat rail DIN EN 60715 TH15 22002100
| g )
i g 1A . TS 32: G-rail DIN EN 60715 G 32 22002130
=554 Gt it (&) TS 35: Top hat rail DIN EN 60715 TH3s 22002120
@ B
@ 5
| L. H
D
s N s s Al 3s
(ma. assembly height)
oo @
z-2501107
For accessories see illustrations on pages 402.



Cdd

BOPLA

A Phoenix Mecano Company

Order designation VvV 223
Polycarbonate enclosures  Order no. 20011995
160/189.6 *
V 223 02223094 e
Tt *= Dimension reduced at bottorn due to conical form.
'_@ i Tolerances to DIN 16901-130.
n|a|Q
SR
298
! - 2 cylinder screw M4 x 24/10
sirnllar to DIN EN IS0 7045
lie o0 7
Accessories (additional charge)  Order no. 2001199 * — W //
M: Mounting plate, 2.0 mm 22000800 1,;3;. 6_2 g’;ep oA £ '| s/
RD: set of knurled screws = 4 pcs 22003100 T % S = = .:Il
F: set of rubber feet = 4 pcs 22003300 —Pe b < H
WL: set of wall brackets = 4 pcs 22004900 ® L. - r ® o 9'
TS 15: Top hat rail DIN EN 60715 TH15 22002105 . e S Ble B
TS 32: Grail DINENG0715G32 22002110 @255 @ ®F—1 i ®
TS 35: Top hat rail DIN EN 60715 TH35 22002115 . & =
! &Gt @ H CI-
1 m 4,6 i =l
194/193 * 3 68.5 35
b /é) — (max, assembly height)
(s::i=) \
e
Z-2501108
Order designation V 225
Polycarbonate enclosures Order no.
V 225 02225094
82/81.5°
- 73/72.46"
54.2/53.8* -‘
o *= Dimension reduced at bottom due to conical form.
j | Tolerances to DIN 16901-130.
T !
A I
a g 3 ....... _'_ .......
8 ™~ gj_ |
|
. |
~ T cylinder screw M4 x 24/10
lid similar to DIM EM 130 7045
Accessories (additional charge)  Order no.
M: Mounting plate, 1.5 mm 22000300 otal h%?ght)
RD: set of knurled screws = 4 pes 22003100 -
F: set of rubber feet = 4 pes 22003300
WWL: set of wall brackets = 4 pcs 22004900 — =t
TS 15: Top hat rail DIN EN 60715 TH15 22001700
TS 32: G-rail DIN EN 60715 G 32 22001701 . 2
TS 35: Top hat rail DIN EN 60715 TH3s 22001702 Ok & . ¢
5
3 L 79
(rax. assembly height)
base
Z-2501109

All dimensions in mm. Please refer to technical data.

Processing (drilling, milling, printing) and terminal assignment on request. 395‘



Welcome to BOPLACity!

V 226 Order designation
Polycarbonate enclosures Order no.
V 226 02226094

*= Dimension reduced of bottorm due to conical form.
Tolerances to DIN 146901-130.

cylinder screw M4 x 24/10

Iid - similar o DIN EN IS0 7045
()
. 8 Accessories (additional charge)  Order no.
= 1203 _ 65 deep . gototel height) M: Mounting plate, 1.5 mm 22000400
] | | ] J/ g 1T RD: set of knurled screws = 4 pes 22003100
(O 2 | © 2 F: set of rubber feet = 4 pes 22003300
[ : i 2;: N . WL: set of wall brackets = 4 pes 22004900
o éiﬁ'gi T é . —3 ﬂ @ TS 15: Top hat rail DIN EN 60715 TH15 22001900
=g \ I ! f N = TS 35: Top hat rail DIN EN 60715 TH35 22001910
: | 1
6 Ol5) H
L ems ||| % Ls
96 21 195 25
114/113* (max, assembly heighty
= —
base (2)
2-2501110
vV 227 Order designation
20 Polycarbonate enclosures Order no.
94.2/93.8° [ VvV 227 02227094
iy *= Dimension reduced at bottorn due fo conical form,
Tolerances to DIN 16901-130..
—
ofol
ee
S
|
J _n cylinder screw M4 x 24710 )
! - similar DIN EN 1SO 7045
i ® 8 J Accessories (additional charge)  Order no.
122];‘151 6.‘;4'::1999 I_ 7. \1otal helghty /’/ M: Mounting plate, 2.0 mm 22000500
97.2/9%6.2 7 ! § o ~-4 SN RD: set of knurled screws = 4 pcs 22003100
(o @ D al Hﬁ@_{ :Ea/ F: set of rubber feet = 4 pcs 22003300
;}; : e i II E WL: set of wall brackets = 4 pcs 22004900
h _ b TS 15: Top hat rail DIN EN 60715 TH15 22001900
: = . 1. ® TS 35: Top hat rail DIN EN 60715 TH35 22001910
o Egv[— __é S ! L‘—* §2 n 5 . iy
|\"§/| g = e ey e = @ 5 ::_‘_ I\ﬂ/ ks/ ........... - - \6/
| A f |
Ol i i e
1 .g @ @ fo) i i —_— L=: Tt
834 | & a
L L L—'T £ — 1 # 4 T1T—— 78 3
116/115* ) = (max. assembly height)
base (‘@ -

z-2501111

‘396 For accessories see illustrations on pages 402.



Cd4

BOPLA

A Phoenix Mecano Company

. . 122/1208*
Order designation n3/1g” VvV 228
Polycarbonate enclosures Order no. - o - |
Vv 228 02228094 * @ *= Dimension reduced at bottom due to conical form.
! d Tolerances to DIN 16901-130,
. !
!
fofol= |
3T | o
Q=S !
i !
|
i i
&
S ' cylinder screw M4 x 45710
id sirnilar te DIN EN 1ISO 7045
'KD 105
= aas e
Accessories (additional charge)  Order no. V22721 * — L oo
M: Mounting plate, 2.0 mm 22000500 5 2]!;‘;2 . 65 deep 15 /
F: set of rubber feet = 4 pecs 22003300 . b
. o
WL: set of wall brackets = 4 pcs 22004900 %_ = g_* ==
TS 15: Top hat rail DIN EN 60715 TH15 22001900 ~ B m[ sosesn
TS 35: Top hat rail DIN EN 60715 TH35s 22001910 g
-, Z T g;-—j - '
® £+ HO O F-—— S T e G
2 : ]
J G Ll a
L a T~ 98.5 25
(max. assembly height)
base
Z-2501112
Processing (drilling, milling, printing) and terminal assignment on request. 397

All dimensions in mm. Please refer to technical data.




I

Welcome to BOPLACity!

V 231

160/159.5*
151/150.6

132.2/131.8*

@
80770

Z-2501114

*= Dimension reduced at bottorn due to conical form.

Tolerances to DIN 16901-130.

cylindar screw M4 x 24710
similar to DIN EN 150 7045
85

]

(total height)
0

/

(max. assembly height)

Order designation

Polycarbonate enclosures Order no.
V 231 02231094

Accessories (additional charge)  Order no.

M: Mounting plate, 1.5 mm 22000600
RD: set of knurled screws = 4 pes 22003100
F: Set of rubber feet = 4 pcs 22003300

WL: set of wall brackets = 4 pes 22004900
TS 15: Top hat rail DIN EN 60715 TH15 22002000
TS 32: G-rail DIN EN 60715 G 32 22002010
TS 35: Top hat rail DIN EN 60715 TH35 22002020

398

For accessories see illustrations on pages 402.



Cdd

BOPLA

A Phoenix Mecano Company

Order designation

i 200/198.9 * ~ v 237
Polycarbonate enclosures Order no. - 191/190.1 B
V 237 02237094 i
I *= Dimension reduced at bottom due to conical form.
Tolerances to DIM 16%01-130.
T
39 E‘
é“““
| G
1 cylinder screw Md x 37/10
lid similar to DIN EN 130 7045
, ™ % ]
Accessories (additional charge)  Order no. - 2007199 - o4 o (ofalheight)
M: Mounting plate, 2.0 mm 22000700 | 1752/1742 VMQD o . an
F: set of rubber feet = 4 pcs 22003300 N 3 m— =
WL: set of wall brackets = 4 pcs 22004900 @/@
TS 15: Top hat rail DIN EN 60715 TH15 22002100 N 'G|
TS 32: G-rail DIN EN 60715 G 32 22002130 N L
i sl Py \
TS 35: Top hat rail DIN EN 60715 TH35 22002120 5@ ® @ : -4 ©
~|= 4]
| | =
137.5 40_ 4.5
3 B3.5 35
176
TeAITOE™ (rmax. assermbly height)
base @
Z-2501116
Order designation L V 238
Polycarbonate enclosures Order no. 132.2/131.3"
Vv 238 02238094 *= Dimension reduced at bottoermn due to conical form.
Tolerances to DIN 16901-130.
cylinder screw M4 x 37/10
id sirnilar to DIN EN ISO 7045
G\' 90
. 4
Accessories (additional charge)  Order no. leo/156.9° = o Cotaiheignt
M: Mounting plate, 2.0 mm 22001100 - 1362/1342 ° . 65 deep o 4 N 30 /
F: set of rubber feet = 4 pes 22003300 (5 T T g o — @ =
WL: set of wall brackets = 4 pes 22004900 T \j@iﬁ & 2
= : 2
TS 15: Top hat rail DIN EN 60715 TH15 22002000 e | . AN 2 .
TS 32: G-rail DIN EN 60715 G 32 22002010 . | ssll ol _ ® :
: : S| 8 ! =2 ~ | | 2
TS 35: Top hat rail DIN EN 60715 TH3s 22002020  (3) §$— . : || | @ S5 @ ® j . —H ®
B |
| ‘
L —
— ¢ @ O 1
a@ ] | o i ) = &
| 1207 I s Al es
136 3 B83.5 3.5
154/153 * (ra. assembly helght)
base ) —
e
Z-2501117
Processing (drilling, milling, printing) and terminal assignment on request. 399

All dimensions in mm. Please refer to technical data.




I

Welcome to BOPLACity!

Order designation

Polycarbonate enclosures Order no.
Vv 2401 02240294
Accessories (additional charge)  Order no.
M: Mounting plate, 2.5 mm 22001000
RD: set of knurled screws = 4 pcs 22003200
F: set of rubber feet = 4 pcs 22003300
WL: set of wall brackets = 4 pes 22004900

TS 15: Top hat rail DIN EN 60715 TH15 22002402
TS 32: G-rail DIN EN 60715 G 32 22002400
TS 35: Top hat rail DIN EN 60715 TH35 22002401

Vv 2401

240.3/239.8

231,3/2308

213/2125°

*= Dimension reduced at bottom due to conical form.
T Tolerances ta DIN 16501-130.
o
8
3
) eyiinder screw M4 x 2410
lid similar fo DIN EN 150 7045 J
® ~ %0 .y
E . (tgial height) /
y-— e < 5 il f——
i 216/214.7 P P 15| /
|RE :! |
L
— B Ry e i =
7
22 § I i
g R
®F 3 @ ® fF—— 4+ H ®
3 3
H

I | 201.4
216
234.3/233 ° {max. assembly height)
—
base @
Z-2501119
V 242 Order designation
Polycarbonate enclosures Order no.
Vv 242 02242094
240.5/239.6 *
231.6/230.7 °
2142/2134° ; |
! *= Dimension reduced at bottomn due to conical form,
| Tolerances fo DIN 16901-130.
. |e |
01§ SE (S —
8| !
N !
| F
: 3
cylinder screw Md x 34710 ——
lid smitar to DIN EN 150 7045 :
® Accessories (additional charge)  Order no.
100.5
240.5/239.2 - 5 I o / M: Mounting plate, 2.0 mm 22001200
229 5 Tt height F: 22003300
[ 217.2/216.2 P o o ___ri . Set of rubber feet = 4 pcs
@@ - . E— ‘S| — _| WL: Set of wall brackets = 4 pcs 22004900
oz | - t— TS 15: Top hat rail DIN EN 60715 TH15 22002402
| < ey
e 7|
. | of 397 | = TS 32: G-rail DIN EN 60715 G 32 22002400
® Zg] @ SRS r-—-—ﬁ—-;ﬂ g @ o6 f—— TS 35: Top hat rail DIN EN 60715 TH3s 22002401
g @
s | 2
@ @“!—-—' @ £]
4.5 # 5
1385 & 35 1 94
2025
234.5/2335° (max. assemibly haight)
N
@
base = -
2-2501121
400 For accessories see illustrations on pages 402.



Cd4

BOPLA

A Phoenix Mecano Company

Order designation VvV 255
Polycarbonate enclosures Order no.
V 255 02255094 se0/358.5 -
349/347.4
317/3154 *
l *= Dimension reduced at bottorn due to conical form.
\‘\ﬁ Tolerances to DIN 16901-130.
i
i
i
|
|
1B\
lid cylinder screw Mé x 45/10
sirnilar to DIN EN IS0 7045
0] 125 149.5 .
360/358.2 * ot heighh /
. [ 320/3183° o 41125 L
Accessories (additional charge)  Order no. '@ ' -
M: Mounting plate, 2.5 mm 22001600 — o
F: Set of rubber feet = 4 pes 22003300 ) ® 2 3
TS 32: G-rail DIN EN 60715 G 32 22002950 b b
- ® Esgafe = ®® ®
TS 35: Top hat rail DIN EN 60715 TH35s 22002951 E" 4
(X = =
[ e )
1 (max, assembly height)
base -
Z-2501131
Processing (drilling, milling, printing) and terminal assignment on request. 401

All dimensions in mm.




I

Welcome to BOPLACity!

oo o]
- _'_ it
& [
L3 —
T ez 3 g o
! : : i ____IJ;:— ﬁ9| Eﬁ %‘ E k|
! r==EIE ? o | 2 sl A 26
: e L8 i 151 [
Model M RD F SIL WL TS 15 TS5 32 TS 35
205 22000100 - - - - 22001800 - -
206 22000200 - - - - 22001710 - -
208 - - 22003300 - - - - -
210 22000300 22003100 22003300 22003500 22004900 22001700 22001701 22001702
215 22000400 22003100 22003300 22003600 22004900 22001900 - 22001910
216 22000400 = 22003300 22003600 22004900 22001900 - 22001910
217 22000500 22003100 22003300 22003700 22004900 22001900 - 22001910
220 22000600 22003100 22003300 22003800 22004900 22002000 22002010 22002020
221 22000700 22003100 22003300 22003900 22004900 22002100 22002110 22002120
223 22000800 22003100 22003300 22005500 22004900 22002100 22002110 22002120
225 22000300 22003100 22003300 22003500 22004900 22001700 22001701 22001702
226 22000400 22003100 22003300 22003600 22004900 22001900 - 22001910
227 22000500 22003100 22003300 22003700 22004900 22001900 - 22001910
228 22000500 - 22003300 22003700 22004900 22001900 - 22001910
231 22000600 22003100 22003300 22003800 22004900 22002000 22002010 22002020
237 22000700 - 22003300 22003900 22004900 22002100 22002110 22002120
238 22001100 - 22003300 22004300 22004900 22002000 22002010 22002020
2401 22001000 22003200 22003300 22004200 22004900 22002402 22002400 22002401
242 22001200 - 22003300 22004400 22004900 22002402 22002400 22002401
255 22001600 - 22003300 22004800 - - 22002950 22002951
M: Mounting plates, laminated F: Set of rubber feet = 4 pcs TS 15: Top hat rail DIN EN 60715 TH15
paper (Pertinax), galvanised SIL:  Lid with silicone seal TS 32: G-rail DIN EN 60715 G 32
steel for model 260 WL: Set of wall brackets = 4 pcs TS 35: Top hat rail DIN EN 60715 TH35
RD: Set of knurled screws = 4 pcs
(cannot be used with SV)
Threaded inserts for mounting bosses Assembly instructions:
Boss internal @ x depth  Threaded inserts Order no. PU Put the insert into the boss until it
4x6.5 Dodge M 3 x 6.5 59002810 100 pcs touches the base. Then hammer down
54x9.5 Dodge M 4 x 9.5 59002820 100 pcs the stretcher plate using a pin.
Cabinet-version: PP i
If you want your enclosure(s) fitted Order designation Order no. - /
with hinges, please order separately: SchM: Set of hinges i
polycarbonate 22006000
Additional charge for fitting.
2-2001663

402



	PolycarbonateV0TitlePg
	PolyV0_388-402
	PolyV0_388
	PolyV0_389
	PolyV0_390
	PolyV0_391
	PolyV0_392
	PolyV0_393
	PolyV0_394
	PolyV0_395
	PolyV0_396
	PolyV0_397
	PolyV0_398
	PolyV0_399
	PolyV0_400
	PolyV0_401
	PolyV0_402




